The Universe Loves Minimum Steps !

Given an array A[i] of N integers. Your task is to make all the integers 0 by performing the
following two operations.

Operation-01: You can select K integers arbitrarily from the array where 1<=K<=N.

Operation-02: From the K-selected integers, you must have to arbitrarily select A and B integers.
You have to arbitrarily select A integers and increase all integers by 1 where 0<=A<=K and you
have to arbitrarily select B integers and decrease all integers by 1 where 0<=B<=K.

You must perform the above two operations to make all the elements of the array to be 0.
In one step, you can perform the above two operations.

Now your job is to find the minimum number of steps needed to make all the elements of the
array to be 0.

Input

Input starts with an integer T (< 100) , denoting the number of test cases.

Each case contains an integer N (1<=N<=100) and then next line N integers follow. Each integer
is between -100 to 100 inclusive.

Output

For each case, print the case number and minimum number of steps needed.

Sample Input Sample Output

2 Case 1:7
Case2:2

3

777

4

1-212
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